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1 Introduction
CB#3 Solution_for_RIM

- Evaluate the solutions based on the above issues

- Find the solution to address the above issues

(CMCC)

Summary of offline discussion in R3-192092
2 Potential solutions

Requirement from operators: 
CN impact should be minimized, it is strongly recommend the alternative solutions that utilize the SON configuration transfer procedure to route the RIM information from aggressor side to victim side should be considered. 
Assumptions:
Each victim or aggressor gNB will be assigned a set ID, all the cells managed by gNB-DUs within the same gNB-CU will utilize the same Set ID.
Solution 2a: 
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Step 1: When atmospheric ducting phenomenon occurs, each victim gNB-DU detects the remote interference and makes decision of sending the RIM-RS individually. 
Step 2: Each aggressor gNB-DU detects the RIM-RS individually, when RIM-RS is detected or disappeared, it send out the “RIM-RS detected/disappeared information” to the gNB-CU
Step 3: Aggressor gNB-CU aggregates the RIM information from each gNB-DU and generates the backhaul message. The backhaul message contains the following information (FFS):
· Source: source gNB ID, source TAI, source Set ID

· Target: target gNB ID, target TAI, target Set ID

· RIM information: RIM-RS detected, RIM-RS disappeared
· Source cell IDs
Step 4: This backhaul message is sent to the victim gNB-CUs through the CN as a container. CN is kept transparent.
Step 5: Each gNB-CU in the victim set sends the backhaul message to gNB-DU 
Signalling impact of solution 2a: NG and F1 AP

With CU-DU architecture, the number of backhaul signalling is largely reduced since the number of gNBs per set is small. 

Solution 2b: 
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Basically, it follows the same steps as in Solution 2a. The main differences are,

· An anchor gNB is configured for each victim set and aggressor set. 
· At the aggressor side, each gNB-CU in the set sends the RIM information to the anchor gNB. The anchor gNB aggregates the RIM information and generates the backhaul messages. It contains the following information (FFS)::
· Source: source gNB IDs, source TAIs, source Set ID

· Target: target anchor gNB ID, target TAI, target Set ID

· RIM information: RIM-RS detected, RIM-RS disappeared
· Source cell IDs
· The anchor aggressor gNB-CU retrieves the anchor victim gNB ID from set ID and sends the backhaul massage to the anchor victim gNB-CU through the CN as a container. The anchor victim gNB-CU distributes the backhaul message to  all the gNB-CUs within the set. 
Signalling impact of solution 2b:  NG, F1, Xn AP and additional OAM impact
Solution 2c: 
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Basically, it follows the same steps as in Solution 2b. The main differences are,

· gNB CUs in a set does not exchange the RIM information directly with the anchor gNB
· At the aggressor side, gNB CUs send the RIM information to OAM, OAM aggregate the RIM information and generate the backhaul message and then send it to the anchor gNB

· At the victim side, anchor gNB CU send the RIM information to OAM, OAM distribute the RIM information to the  gNB-CUs within the set.

Signalling impact of solution 2c:  NG and F1 signalling is the same as solution 2a, but require additional considerable OAM impact.
3 Conclusion
All the potential solutions have the same RIM performance, the only difference is signalling aspects. It should be pointed out from the operator experience of LTE, the more complex the solution is, the less opportunity operator will use the solution. 
Based on the offline discussion, companies agreed that Solution 2a should be pursued. 
Conclusion 1: Solution 2a is selected for further normative work.
Proposal 1: Companies to provide contributions on NG/F1 CRs, OAM impact and potential LS for solution 2a next meeting.
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